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w1 () 4R, w2 2) R sl Q) -1, e (4 fREC-3, B
w2 (1) fR¥2ae, B3 Q) ¥« k2 Q) ¥ —6a, KH3
w3 (1) 4x243x—1-2x2—4x+6=(4—2)x2+(3—4)x+(—14+6)=2x2—x+5

@) 3a2—2ab—A4b2—5a2+2ab—8b%=(3—5)a’+(—2+2)ab+(—4—8)b% = —2q2—12b2

w4 (1) 3wl (2) 4%

s (1) 3w, THIAby +c (2 2w, THEEaxd+c (3) 3w, THIHC
wEe (1) (a+2)x+(4a*—3a) 2) 224+ 3y—1)x+(2y2—-3y—2)

w7 1) A+B=(2x2+3x—1)+(4x2—5x—6)

=(2+4)x2+(3—5)x+(—1—6)
=6x2—2x—17

A—B=(2x%4+3x—1)—(4x2—5x—6)
=2x243x—1—4x2+5x+6
=(2—4x2+(3+5)x+(—1+6)
= —2x24+8x+5

(2) A+B=(4x3—3x2—2x+5)+ (2x3—3x2+7)
=44+ 2)x3+(—3—3)x2—2x+(5+7)
=643 —6x2—2x+12

A—B=(4x3—3x2—2x+45)— (2x3—3x247)
=4x3—3x2—2x+5—2x3+3x2 -7
=(4—=2)x34+(=3+ x> —2x+(5-7)
=2x%—2x—2
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A+2B=(x24+4x—3)+2(2x2—x+14)
=x2+4x—3+4x2—2x+8
=(1+4)x2+(4-2)x+(—3+8)
=0x2+2x+5

2A—3B=2(x*4+4x—3)—3(2x2—x+4)
=2x24+8x—6—6x2+3x—12
=(2—6)x2+(8+3)x+(—6—12)
= —4x2+11x—18

A+B+2A—B)=A+B+2A—2B=3A—B
= 3(x24 41— 3) —(2x2— x+4)
=3x24+12x—9—2x24+x—4
=(3—2x2+(12+ D+ (=9 —4)
=x24+13x—13

2a3X 4a?=(2 xX4)X a®*?*=8a’
3x2yX(—2x2%y?) ={3X(—2)} X x2F3 X y1+2= —6x5y3
(=3x%y)°=(=3) X (x*)° X y° = —27xy*

4x%2x%—3x+5)=4x2-2x2+ 4x2-(—3x)+4x2-5 =8x4—12x3 4 20x2
(2x—1)(4x%+3)=(2x—1)-4x24+(2x—1)-3=8x3—4x24+6x—3
(2x24+x—3)(x—2)=(2x2+x—3)x+ (242 +x—3)-(—2)
=243+ x2—3x—4x2—-2x+6
=2x3—3x2—5x+6
(2x243)(x2—4x—1)= (222 +3)x2+ (2424 3) - (—4x)+ (2x2+3)- (—1)
=224+ 322 —8x3— 124 —2x2—3
=2x*—8x3+x2—12x—3
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(24 ax—1)(x+a)=(x*+ax—1)x+(x*+ax—1)a
=x’4+ax?—x+ax’+a’x—a
=x342ax*+(a?*—1)x—a

(ax+0b)cx+d)=(ax+b)cx+(ax+b)d

=acx’+bcx+ adx+bd
=acx®+(ad+bc)x+bd

(204+5)2=(2x)2+2-2x-5+ 52 =4x2+ 204+ 25
(2x—39)2=(2x)2—2-2x-3y+ (3y)2=4x2—12xy +9y?
(5x+4y)5x—4y)=(5x)* — (4y)* = 25x2— 16 y*
(x+1)(x+5) =22+(1+5x+1-5=x4+6x+5
(x—3)(x+8)=x24+(—=3+8x+(—3)-8=x24+5x—24
(x—yYx—dy) =22+ (—y—4y)x+(—y) (—4y)=2"—dxy+4y®



